APPLIED FINITE MATHEMATICS
3% ed Wl Sekbon/Bloom

Answers to Gdd Nowbered Homewark
. P‘-O\O\QVV\S %Qd'\@\ CQ: ‘) (‘“9‘) (stj(-"lq) CQ-S’

bd: 1) T=%600 3)A=%3M8 5 P=%i@ooc NHA=$IN
‘ Q) F=.01 (% W) B16Lo  13) FM40 15) $xmomo

@2 1y A= FlI5H25) B) A=¥S56M1T -
5) ® poys more.  (gpp =.05(3 at Bont A. Mere =.0523 af Qomk.B
N A=$127020,00 Q) £=R.66Years 1) P=%151,25T00
1) (gpe=.01397 T,3R1% 15) 1ND% mullion people

63 W) A=%9sy.0t 3) AsSamyt 5) mfa.os-mab/qrww-
T) M= 64300/ quanter
1) 828000 poud today s pedler: A= % 3¥002.04
{for $uoo paud, Non“\'gﬂk{ A= $35% 1242
Wy A= IL552.26

b.4 1) P= M,\‘T‘l,qsé.ss 3) P= 32433 ) m?-sll“\q‘l‘fmtm‘\'en
1 M= 168,716 vowth D P=¥31R01.97 so \easing s loetier
1) m= Suen Ty |

5 ) m= 23,06 3 P=3 mo.63
5) P=%5519.64 T P= B0l
9y m= 332,39/ WA 1) m=3u77.11/ month
n) A =3%3cs4u.10 12) = Py

13) P =P+ Py = U7, To+UTHUR =$419,18
1S) P = P+ P 4BDURI+F0LMS= FiamlqY
1) @y A=%3osasda b)) m= 12003 /vedth



